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PART - A
Computer Related Knowledge

Which of the following works as mouse ?
(A) Keyboard

(B) Track ball

(C) Light pen

(D) None of these

Which statement is true for a Boot

Virus ?

(A) Itis a computer program.

(B) It infects boot records.

(C) It is most active when a computer
is booting.

(D) All of these

What menu is selected to change font and
style ?

(A) File

(B) Edit

(C) Format

(D) Tools

Hotbot is an example of :
(A) Web games

(B) Social Networks
(C) Search engines

(D) None of these

AR faam
AT - <h
Wﬁa‘&ﬁm

et F A PH-T1 A I TE FE A E?
(A) HEE

(B) < e

(C) e T

(D) = § &

o o & e Fre # SE-E s el

77

(A) & Th HFE T T

(B) 7% gz iy 1 Wi i €|

(©) FIE (T F THI TE T AR
fipamelia AR |

(D) oY |t

B oiR wrEa sead % fog fee 3 W
T L €2

(A) TS

(B) ufee

(C) IR

(D) <H
WWWW"T%:
(A) 9T

(B) whferaet Feaed
(C) wHIH

(D) T @ ®iE T
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Which of the following is not a hacking
tool ?

(A) Nmap

(B) Nessus

(C) Winzapper
(D) Obnam

The benefit of using Computer is that :

(A) Computers are very fast and can
store huge amount of data.

(B) Computers provide accurate output

even when input is wrong.

(C) Computers are designed to be
inflexible.

(D) All of the above

A reduced-size version of an image is

called a :

(A) Clipart

(B) Bitmap

(C) Thumbnail

(D) Portable Network Graphics

In which type of streaming multimedia
file is delivered to the client, but not
shared ?

(A) Real time streaming
(B) Progressive download
(C) Compression

(D) None of the above

5.

AR fEan

o & @ - T T (Ine) T8 ® 2

(A) Nmap
(B) Nessus
(
(

0

Winzapper
D) Obnam

SHU I YA HA T A g ] 5

(A) HIX TEA IS B © AR T A H
T TR H Tqhd ¥ |

(B) ¥ Y T & q9 H FYR Wik
3MSTYE A B |

(C) TR 39 TR FRT T

(D) Ul |t

Teh Bfd & Teh HH SRR F G, 1
HEANT ¢ ?

INERESEEIC

(B) faetu

(C) ww=Ad

(D) TIEH Heaeh Mitherd

TeAHifean st T (Fdq) wisen | fhu
TE i BE FAE= < W €, Wy IR
@ fopan ST ?

(A) ez i

(B) YRIfFE TRaE

(C) HEIH

(D) ST § 5 T
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9. The default view in Excelis 9. TRmifeE®E AT
view.
(A) Work (A) Work
(B) Print (B) Print
(C) Normal (C) Normal
(D) Auto (D) Auto

10. Which of the following is not the function 10. T/ 9 & SF-F FHH el I 2

of Computer ?

(A) Inputting (A) g
(B) Outputting (B) YN
(C) Processing (@) EISIEH
(D) Understanding (D) efetefeE

11. Full form of optical disk DVD is : 11. sifesnat fewn e quf M 7
(A) Digital Volume Disc (A) fefsiea aicgn feen
(B) Digital Versatile Disc ®) fefsea adfera fowr
(C) Digital Visual Disc ) fefsea faser fe=n
(D) Digital Vector Disc (D) fefsea o= fe=

12. Itis not an output device : 12. e U TSy ooy T € :
(A) Multifunction printer (A) weerweRE fHeX
(B) Flex Machine (B) R HEIA
(C) Web Camera (C) ¥ FH
(D) Plotter (D) X

SPACE FOR ROUGH WORK / 1% %14 & & e
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13. Linux is generally a type of
software.

(A) Open source
(B) Commercial
(C) Proprietary
(D) Shareware

14. It is not an anti-virus software :

(A) Kaspersky
(B) AVG

(C) Doomsday
(D) Norton

15. The number of function keys in a

keyboard is :
A) 15

C) 13

S’

(
(B) 14
(
(

D) 12

16. An e-mail account can not be opened

using the following :
(A) gmail.com

(B) amazon.com
(C) yahoo.com

(D) rediffmail.com

Wﬁ.?ﬁ'ﬂﬁ'ﬂ@__ ThR bl

I T TRIRRY ST & ©
(A) Kaspersky

(B) AVG

(C) Doomsday

(D) Norton

‘e’ H TR ' T ©

A) 15
B) 14
C) 13

) 12

1 % ITN 9 e-mail T & @ren S
W%:

(A) gmail.com

(B) amazon.com
(C) yahoo.com

(D) rediffmail.com
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17. Which of the following is incorrect for 17.

standard storage capacity ?
(A
B

Floppy Disk - 144 MB

~—

CD - 700 MB

o~
~—

(C) DVD-47GB
(D) Blu-ray - 25 GB

18. Real time systems must have : 18.

A) Non-pre-emptive Kernel

(
(B) Pre-emptive Kernel

—_—

C) Both (A) and (B)
(D) None of these

19. A dot matrix printer is an example of : 19.

(A) 3D printer
(B) Impact printer
(C) Inkjet printer

(D) Laser printer

20. What is http server response code for 20.

requested resource “File Not Found

Error” ?

AR fEan

HMF WERO &Fa & oqEr = # 4
-9 T ¢ 2

(A) T fe&F - 144 MB
(B) #fi€t - 700 MB

(C) <Eet - 47 GB

(D) =-X-25GB

e o foed H e A R
(A) FA-H-TEEE HwEA
(B) W-TFEd HTTA

(C) (A) R (B) T

(D) T § w1 e

<z Bfra Tt fet warR & TR o 3R
g

(A) 3-8 o

(B) 3w fi=R

(C) FHere iR

(D) @R fiR

sy R T (IR ) fdlid & fed
“File Not Found Error” % fet http server
=) Wil H1S FN 7?2

(A) 404
(B) 401
(C) 301
(D) 500
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21.

22.

23.

24.

25.

PART -B / HT - @&
General Hindi / | &=t

(A) &
(B) w9
(©) o

(D) gl

A) et

26.

27.

28.

29.

30.

AR fEan

eI R A R A e 2
(A) e |l
(B) Tarm

(

(B) W& WX
(C) ¥ WX
(D) 79 9 & T

‘i ot B R g i aHE © 2
(A) wgsile qATY

(B) e v

(C) ey HHH

(D) E% 9H

o o B G T SIS T N § ?
(A) I% I 7R TE A e |

(B) 3Tuek e1mre W fae S wehe g
© #qH Tw = m

(D) T3 3T 43 H A Ael ot |

‘TS YR B waTEE T % e g
T 1 FANT TR S ?

(A) ==

(B) =

<€ =

(D) %
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31.

32.

33.

General English / |H ST

Choose the sentence which is correct.
(A) Ihave visited England last August.
(B) He doesn’t write to you for a week.
(C) Iam here since 1996.

(D) Thave lost my purse, [am unable to
buy the book.

Which of the following words most nearly

means Deplete ?
(A) decorate
(B) beg

(C) exhaust

(D) hurry

Choose the correct sentence :
(A) TFather comes home at five O’clock.

(B) Father comes to home at five
O'clock.

(C) Father comes at home at five
O’clock.

(D) Father comes in home at five
O’clock.

34.

35.

AR fEan

Out of the four alternatives suggested,
select the one which does not express the
following sentence in passive voice

correctly.
Who taught you French ?

(A) By whom was French taught to
you ?

(B) Who were you taught French by ?

whom were ou taught
C) By wh y gh
French ?

(D) French was taught to you by who ?

Out of the four alternatives given, choose
the one that can be substituted for the

following expression :
One who walks on foot
(A) pedlar

(B) pedestrian

(C) pedicure

(D) peddler

SPACE FOR ROUGH WORK / T & & for&t site

AR fean
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36. Complete the following sentence by 39. Identify the most appropriate choice that
inserting the correct alternative from the transforms the given sentence into
given choices : Indirect speech.

We have only _ money. He said, “I shall go as soon as it is
(A)  few possible”.
(B) afew (A) He said that he should go as soon
as it was possible.
(C) little
(B) He said that he would go as soon
(D) alittle . .
as it was possible.
(C) He said that he would go as soon

37. Choose the word which is most nearly as that was possible.

opposite to the word in capitals.
AMBIGUOUS (D) He said that he should go as soon
as it is possible.
(A) confusing
(B) lucid
o d 40. Indicate the partin the following sentence
(©)  decorous that has spelling error. If there is no error,
(D) obscure choose D.
I read an ad that went like this :
38. Choose the appropriate conjunction from

the given alternatives to complete the

following sentence :

__ he is honest, he is not

If you're loosing hair,
A B

call us immediately

efficient. =

(A) As (A) Part A
(B) If (B) PartB
(C) Though (C) Part C
(D) While (D) Part D

SPACE FOR ROUGH WORK / T% &1 & o s7g

AR fean
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General Mathematics

Description for Q. No. 41 and 42 is same.

Some friends went to “sweet India”. Following
is the information about the number of

rosogollas, they ate :

(i)  Ganesh ate 8 less than Akshay
(i) Dilip and Raja together ate 37
(iii) Juli ate 8 more than Dilip

(iv) Akshay ate 5 more than Dilip

(v) Akshay and Ganesh together ate 40

41. Juli and Dilip together ate how many
rosogollas ?

(A) 48
(B) 27
(C) 46

(D) 19

42. If the cost of each rosogolla is ¥ 2. What
was the total amount they had to pay ?

(A) T 200
(B) ¥ 208
(C) T19%

(D) None of the above

AR fEan

W ToTq

Y G 41 TE 42 F T e U g

¥ 3 ' wiie dea’’ T IR IR 5N TR T
e % R § Frfafed S R

@) TN Y e § 8 W WM

@) feela ofw won 7 faee 37 @
Gii) el 7 fEelta @ 8 e T
(v) 7R ¥ feeia & 5 = @
(v) 3rerd iR o A fHereRt 40 TR

41. e @R feeha ¥ fhee fora wied @@ ?

(A) 48
(B) 27
(C) 46

(D) 19

42. % TF e i HIF 2T W 3T A A
T foraa foret ar fopan 2

(A) T 200
(B) ¥ 208
(C) %19
(D) ST H | B T
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43.

44.

45.

The remainder when 22017 is divided by
5 will be :

(A) 1
(B) 2
€ 3

(D) 4

Which one of the following numbers is

exactly divisibly by 11 ?
(A) 235641
(B) 245642
(C) 315624

(D) 415624

LCM of two prime numbers x and y
(x > y) is 161. Then the value of 3y—=x

1S ©

(a) -2

43.

44.

45.

AR fEan

wa 22017 351 5 9 fawfsra foran s € 4 SvRa
B :

T § HiA-h g 11 ¥ quia: fawnfea ® 2

(A) 235641
(B) 245642
(C) 315624

(D) 415624

T IR TS ¢ My (x > y) Fl THIH
TEea 161 7, T8 3y —x B WH B0
(A) -2

B -1

© 1

(D) 2

SPACE FOR ROUGH WORK / 1% &1 & o g
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46.

47.

48.

A number n is called perfect. If the sum
of all its divisors (excluding itself) is equal
to n. Then which among these is a perfect

number ?
(A) 6
(B) 9
(C) 15
(D) 21

How many kg of pure salt must be added
to 30 kg of 2% solution of salt and water
to increase it to a 10% solution ?

2
(4) 27 kg

1
(D) 23 kg

An angle is equal to five times its

complement, its measure will be :
(A) 60°
(B) 75°
©
(D) 30°

46.

47.

48.

AR fEan

& G n T Fead § 9% 39 wen %
e ST Tt TSR AR n B R |
et el § 9 quf g Bt

(A) 6
B) 9
(C) 15
(D) 21

0% e 9 % 30 fe faemam H fowd
TE 2% ¥, fra feawmE ge T 3R
e ST T e i sigeht 10% B S ?

(A) 27 fwad

W N

® 2

G

© 2

1
D) 23

T RV, A SR BT U 00§ SR
Y BT

(A) 60°
(B)
(C) 45°

75°

(D) 30°

SPACE FOR ROUGH WORK / 1% & % fordt g

AR fean
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49.

50.

51.

The radius of base and the height of a right
circular cone are 7 cm and 24 cm
respectively. Then volume of the cone will
be :

(A) 1200 cm?
(B) 1220 cm?
(C) 1232 cm?
(D) 1240 cm?

A vendor loses the selling price of
4 oranges on selling 36 oranges, then his
loss percent is :

(A) 10%
1

11—%
® 117

1
12—%
© 12

(D) None of the above

The difference between simple and
compound Interests on a certain sum of
money compounded annually for 2 years
at 4% per annum is ¥ 1. Then the sum
is:

(A) %625

(B) 630

(©) T 640

(D) % 650

49.

50.

51.

AR fEan

fordl o o Vi & STYR hi oo aen
g wuw: 7 qen 24 A R, @ W W@
3T B

(A) 1200 57 9
(B) 1220 =9 4
(C) 1232 5[ {Hi
(D) 1240 =7 91

T THMER W6 36 T J=edl € @ STl
4 HR F ora god 1 TR B ], o ST
T e €

(A) 10%

1
11-%
® 115

1
12—%
© 123

(D) SRF ¥ | HE T
foret wafer =1 4% aiftie =< = W 9

2 TNl % WIYRU AN @ Gehdfg S 6l
AW 1E, W g T

(A) T 625
(B) T 630
(C) T 640
(D) ¥ 650
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52.

53.

54.

What will be the remainder, if (67% +67)  52.

is divided by 68 ?
(a) 1

(B) 63

(C) 66

D) 2

A bottle is full of milk. One third of it 53.

taken out and then an equal amount of
water is poured into the bottle to fill it.
This operation is done three times. What
is the final ratio of milk to water in the
bottle ?

(A) 8:19
(B) 19:8
(C) 8:27
(D) None of the above

The diagram shows 4 squares. What  54.

percentage of the biggest square is the
smallest square ?

/|

(A) 37.5%
(B) 5%

(C) 12.5%
(D) 6.25%

AR fEan

& (6767 + 67) i 68 | farstifa foven St @
Gk LT RUIR

(A) 1
(B) 63
(C) 66
(D) 2

T Al ed @ o9l ¥ 1 T e gy frereret
T A § O SRt aaa R T
SR I% URRE i SR i S § | S
¥ g o O 1 Sif ST 2

(A) 8:19
(B) 19:8
(C) 8:27
(D) W | g

Fretforfaa fodt & IR o €1 T98 98 o
fepa i Ted Biel o 8 ?

(A) 37.5%
(B) 5%

(C) 12.5%
(D) 6.25%
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55. A student expends 30% of his money and

saves ¥ 21. Then his amount is :
A) T21
(B) %51
© T30

(D) T 630

56. The sum of all two-digit numbers divisible

by 5 will be :
(A) 1035
(B) 1245
(€ 1230

(D) 945

57. Which of the following is correct ?
(A) —-16> —-15
(B) -16<-20
(¢ -16>1

(D) -16< —3

55.

56.

57.

AR fEan

TF 9T AT YR T 30% S B ©
¥R T 21 991 ¥ 1 9 SHH! IR E

(A) %21
(B) T 51
(C) T30

(D) T 630

21 ofeh] | ot Goft GEmedl W A, S fe 59|
faafa gt §, 2rm

(A) 1035
(B) 1245
(C) 1230

(D) 945

frfafed § § T wd 872
(A) —16 > —15

(B) —16 < —20

© -16>1

(D) -16< =3
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58.

59.

Find the circumference of a circle whose 58.

diameter is 42 cm.

(A) 140 cm

(B) 132 cm

(C) 128 cm

(D) 136 cm

A man can reach a certain place in 59.

30 hours. If he reduces his speed by

1
i-gth he goes 10 km less in that time. His

speed is :

(A) 6 km/hr.

(B) 5% km/hr.

(C) 5 km/hr.

(D) 4 km/hr.

AR fEan

g &t uftfy F wifE e = 42 99t
g

(A) 140 Gt
(B) 132 9Ht
(C) 128 Tl

(D) 136 GHI

T sreHr fedt fAfvea wom & 30 w5 H
TEud ¥ Afe 98 ST I %wmam

FTa1 g, @ 10 et =t @ fawifa wwa |
FH T HE L 1 ST AT

(A) 6 forHt/s
(B) 5% [ELIVAC

(C) 5 TwHt/s=

(D) 4 feeit/si@

SPACE FOR ROUGH WORK / T% & & & sg
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60.

61.

62.

ABCD is a cyclic quadrilateral in a circle
with centre O. If £ZADC = 130° then

measure of £ZBAC is :

In 10 years, A will be twice as old as B
was 10 years ago. If A is now 9 years
older than B, the present age of Bis :

(A) 19 years
(B) 29 years
(C) 39 years
(D) 49 years

Three cubes each with sides 8 cm are
joined end to end. Then the total surface
area of the resulting cuboid will be :

(A) 824 cm?
(B) 850 cm?
(C) 856 cm?
(D) 896 cm?

| AR fEan

T I, 99 %5 0%, ¥ ABCD & =hid
Tgds 1 afg LADC = 130° @ £BAC
HATR

C
DN
P N\

Z’/‘/ \“3\
_ \\EB

(A) 30°
(B) 40°
Q) 50°
D) 45°

10 o &, A %1 59 B! S 30 I QAT Bt
S BT 10 98 Ug ot | afg o1eft A+t =W
B 9oy o1fuer & A B ST W T ¢

(A) 19 =
(B) 29 &d
(C) 39ad
(D) 49 =4

A o, T T i ST 8 I Y R,
Srest Tk T I e |, @ 39 @ S
T 1 U IS B0

(A) 824 9 &t
(B) 850 =1 &t
(C) 856 = G,
(D) 896 7 G,

SPACE FOR ROUGH WORK / T% @Td & for&l e
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63.

64.

65.

The speed of a boat in still water is  63.

15 km/hr. It can go 30 km. upstream and
return downstream to the original point
in 4 hrs. 30 minutes. Then the speed of
the stream will be :

(A) 5 km/hr.
(B) 6 km/hr.
(C) 8 km/hr.

(D) 9 km/hr.

The average of ten positive numbers is x. 64.

If each number is increased by 10%, then

average :

(A) Remains unchanged
(B) May increase

(C) May decrease

(D) Increases by 10%

Find the value of : 65.

(ha) (Hhaalhstind

AR fEan

T @ T feer ue # 15 fRe/He
718 30 foreft =) &t U & Taeg aon av &
siorta TG 0 gU I I8 WH W 4 S
30 e § 9w 311 Sl §, o TS R 9
Tt R

(A) 5 et/ e
(B) 6 fertfi/ e
(C) 8 Tt/
(D) 9 et/ e

10 TS el i 3iwa x ¥ 1 afg g8
TN H 10% w1 e S §, @ ofed -

(A) & S
(B) g Hehdl ©
(C) ¥ THA ©

(D) 10% & ST

EEE)

(1) (i b2t
&1 T B

(A) 1

(B 0

© 8

(D) 4

SPACE FOR ROUGH WORK / T% &Td & fet& 78
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66.

67.

Find the value of :

70 (49)0 075 (343)02
A 2

*) >

B 2

®

o B

(©) .07

(D) None of the above

The value of x from the following figure

is :

12 cm
&

(A) S5cm
(B) 6cm
(C) 7cm

(D) 8cm

66.

AR fEan

(243013 x (243)° 07

m (7)0 25 X (49)0 075 (343)0.2
O BT

5
A =z

3
B) -

03
© &
(D) I H § g T
e T fa o STER x 1 WA BT

(A) 59
(B) 69l
(C) 7 G
(D) 8 &

<l
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68.

69.

70.

The average weight of A, B and C is
45 kg. If the average weight of A and B
be 40 kg and that of B and C be 43 kg.
Then the weight of B will be :

(A) 31kg
(B) 32kg
(C) 35kg

(D) None of the above

A Conical Tent is made out of cloth as a
right circular cone. If the diameter of the
base of the tent is 42 meters and the height
of the tent is 28 meters, how much
minimum cloth will be required to make
the tent ?

(A) 4610 square meter
(B) 4620 square meter
(C) 2310 square meter

(D) None of the above

What percentage of 20 kg is 5.2 kg ?
(A) 22%
(B) 24%
(C) 26%

(D) 28%

68.

69.

70.

AR fEan

A, B C T 39a WR 45 el 81 Ak A
e B &1 39d YR 40 fohell o1 B 92 C 1
affa YR 43 ToFel &, T B o1 WR BT

(A) 31 fohelt
(B) 32 ferall
(C) 35 feedl
(D) SR H H1E TE

TF VG FH B T HUS W T 8 S A
T W H AHR H 1 AR T2 F SAER
F1 AT 42 HET } qAT TR F HAR
28 X B, A 3H <= I IR A v fehal
= HIS! STELIH T 2

(A) 4610 = HX
(B) 4620 & HiX
(C) 2310 T HR
(D) SR H FE TR

5.2 et 20 ferelrume <t e e 8 2
(A) 22 wfded
(B) 24 Wi
(C) 26 wfaer
(D) 28 Wi

SPACE FOR ROUGH WORK / 1% &Td & fo& s®
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71.

72.

PART - C
General Mental Aptitude

Between 1 O’clock and 2 O’clock, when
the minute hand and hour hand are in
straight line ?

5

(A) SOH minutes past 1 O’clock
2

(B) 3SE minutes past 1 O’clock

5
(@) 25Tl— minutes past 1 O’clock

(D) None of the above

What information is provided by the
shaded portion in the diagram given
below ? If triangle represents poor person;
circle, a family and square represents rich

person.

(A) Neither rich nor poor family
(B) Rich and poor family

(C) Rich family

(D) Poor family

71.

72.

AR fe2m
WIT - T
T O AR argar

15 3R 2 99 % e el e g8 3R oo
T T WA @ H g ?

(A) 139 30% e

(B) 1SR 38% e

(C) 1= 25% ILEC

(D) SWeH & FE T

fr=1 o © owifera WM 91 WERi Al
£? ofe fay T 1, I IRER ST a1 o
STHI Y oI B

(A) 7 3R A T IRER
(B) TR e T @R
(C) R TRaR
(D) "« 9RER

SPACE FOR ROUGH WORK / T% @1d & ford g
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73.

74.

75.

Total numbers of triangles in the given  73.

figure is :

(A) 8
(B) 10
) 12
(D) 14

Which among the following letters will ~ 74.

fill the question mark sign (?) below ?

B G N
D J R
G N ?

(A) X

B) U

< v

(D) W

In the given figure below, three phases of 75.

a dice are shown. Then which number
will come on the opposite surface of

number 4 ?

11 113 6 |5
3 1 p)

D (I1) (1)

(A)
(B)
©)
(D)

N Ul N =

AR fEan

71 123§ TSIST 1 et HEAT §
(A) 8
(B) 10
(C) 12
(D) 14
Frifra § weaTes 9% (?) % TH W HA
T ST&R A ?
B G N
D J R
G N ?
(A) X
B U
< Vv
(D) W
ot # wen € TG & o YRRl Shl gt T

T ofF 4 F Fudid woH W A T 3
T ?

116 113 6 |5
3 Z i

@D (I (I1I)

(A)
(B)
©)
(D)

N G N

SPACE FOR ROUGH WORK / % &M & fe& sg
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76. Find the next term in the series. 76. TreAfafad Joft & svren U T |
6,9, 14, 21, 30, 41, ... 6,9, 14, 21, 30, 41, ....
(A) 56 (A) 56
(B) 55 (B) 55
C) 54 (C) 54
D) 53 (D) 53

77. Normally which of the following  77. frfafed § 9 $H-a1 fo gEra: SRR,
diagrams shows relation between TSifeR 3R Tefiieet =& e gt § 2

Doctors, Engineers and Administrators ?

f./ﬂ \‘\ //f—\\
O O] O O
(A) - (A) ,-

f/\ /"_'_"“\
(®) ( ) ® | J\/)
Y

n’/"_“\ \
N\ ol ~ /”‘\_— S
ﬁr \ / /ﬁ(\/\jj \
© Q&_/ © (\_/\Lk__,/

(D) None of above (D) SRR H H g T

SPACE FOR ROUGH WORK / {& @Td % for&l g

AR fean
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78. Find the number in the blank space. 78. Wl ¥UM | 3 1 6|
2 3 8 1 2 3 8 1
2 6 9 3 2 6 9 3
6 5 <) ? 6 5 3 ?
1 7 4 6 1 7 4 6
(A) 18 (A) 18
(B) 16 (B) 16
(C) 20 | (C) 20
(D) None of the above (D) SWKH ¥ HIE T

79. Which among the given numbers will  79. freifena o weaTae 9% (?) 9 @ &t 9

replace the question mark (?) below ? TR ?
BL DG El MO | QS BL DG EI MO | QS
12 9 12 26 ? 12 9 12 26 ?
(A) 32 (A) 32
(B) 34 (B) 34
©) 36 () 36
(D) 38 (D) 38

80. Which of the given option will be nextin  80. & T ST HT ST G A B 2

the given series ?

AZ,CX,FU, _2 AZ,CX, FU, 2
@A) JQ @A) 1Q
(B) KP (B) KP
© IR © IR
D) v | (D) 1V

SPACE FOR ROUGH WORK / % & & for& s

AR fean
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81.

In the following sequence of diagrams
which number will occupy the blank
space ?

28 % /60
15 19
/aN/a\ /5\/6\ /7\/8\ /9 \/10

82.

83.

(B) 74
(C 75
(D) 76

The number of Parallelo grams in the given

figure are :

(A) 8
(B) 11
() 12

) 15

Complete the given series.
2,5,9,19,37, ..

(A) 76

B 74

) 75

(D) none of these -

81.

z’liml? faam

PTG Tol o SHgshid H it T H B
T e N 2

Q &, 0 <3
/3\7/4 511/6 7158 91%0

82.

83.

(B) 74
(C) 75
(D) 76

3 73 Fam W wmieR TS vt de gl

Y4

(A) 8
(B) 11
(C) 12
(D) 15

& Aot = g B
2,5,9,19,37, ...
(A) 76

(B) 74

(C) 75

(D) T 9 =E T
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84.

85.

86.

87.

Find the next term in the following

series :

ABC, BCE, CEG, DGK, EKM, _?
(A) FMQ

(B) FMP

(C) FMO

(D) None of above

Which group of letters will come next in

the series ?

LXF, MTJ, NPN, OLR, _? _
(A) PHV

(B) PIU

© PW

(D) PKX

General Knowledge

What is Siachin ?

(A) Glacier - Strategical place
(B) Waterfall - Godavari

(C) Volcano - Barren

(D) None of the above

Which of the following was the
achievement of Lord William Bentinck as

Governor General ?

(A) Permanent Settlement
(B) Capture of Asirgarh Fort
(C) Suppression of Thuggi
(D) Annexation of Punjab

84.

85.

86.

87.

AR fEan

freafafad Joit § STTen 9g I S|

ABC, BCE, CEG, DGK, EKM, _?

(A) FMQ
(B) FMP
(C) EMO
(D) Wi | g &l
& T I § oTen el hi wE e u 9
-1 BT 2
LXF, MTJ, NPN, OLR, _?
(A) PHV
(B) PIU
(C) PJW
(D) PKX
H|E J1
fafem Fn g2
(A) Towg - tan &
(B) S - TiErerd
(C) oG - o

(D) IR T ¥ HE Tl

M- & ®9 | dre fafesm sfés =1 -
freafafad § @ -9 Sufsy off ?

(A) =l siEE

(B) oTETT® fohel W ¥R
(C) o &1 T

(D) U A1 faera

SPACE FOR ROUGH WORK / T% &H & fo&l e
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88.

89.

90.

91.

Which high value note is demonetised in ~ 88.

India ?

(A)

To which of the following dynasty  89.

Z 100 Note
T 1000 Note
¥ 2000 Note

None of these

Krishnadeva Raya, the celebrated king of
Vijayanagar Empire belonged ?

(&)
(B)
©
(D)

Who of the following was

Sangama
Saluva
Tuluva

Aravidu

ruler of Bengal contemporary of

Harshavardhana ?

(A)
(B)
©)
(D)

Atoms are composed of : 91.

(A)
(B)
©)
(D)

Gopala
Dharmapala
Devagupta
Shashank

Electron only
Proton only
Electrons and Protons

Electrons and Nucleus

the 90.

AR fEan

Rd T g 359 qod & Aie &1 fardie
fen T ?

(A) %100 7IE

(B) 1000 e
(C) ¥ 2000 e
(D) T 9§ ¢

oI TR TR 1 RS IEE FORaE
Frefafeaa § @ fre 59 Q Fsifed o1 ?

(A) €
(B) WA
(€ =
(D) ewfag

g HT GHHRTAA ST HT ATHR
Frreferfaa & 9 & o912

(A) T
(B) &HUA
(C)

(D) ¥l

(A) ok sori |

(B) fakdRNd

(C) ToH T WA

(D) sl Td e (feras) §

SPACE FOR ROUGH WORK / T @& o for& smg
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92.

93.

On which of the following date Bhagat
Singh, Sukhdeva and Rajguru were
executed ?

(A) 14 February 1931
(B) 23 March 1931
(C©) 12 August 1931

(D) 17 October 1931

Match the following in the context of
Right to Freedom (Article 19 of the
constitution).

92.

93.

AR fEan

Freffad § 4w faf =1 safee, qEie
3R TSATE 1 TR <t TE off ?

A) 14 T 1931
23 A 1931

0=

(
(
(C) 12 ST 1931
(D) 17 19N 1931

Al 1 ATHHR & Heo H gafera sifsg
(Ffau™ # A% 19 )

(a) Article 19 a (i) To form (a) ITHVT19H () HTH S &
associations
(b)  Article 19 b (i) To Freedom (b) STHR19®@ (i) %
of speech SIBCIEG]
and =\ Hl
Expression
(c) Article 19 c (iii) To move () SATHII9T (iii)  STMY HeROl
freely £l
(d) Article19d  (iv) Toassemble d) ST=HE19F  (iv) Wifages
peaceably T
Codes : wiS :
@@ (b (o (d (@ (b (9 (d
(A) @ @) G (v) (A) @ G @ @)
(B) (@) @) @@ (@) (B) @@ @) @H (@)
© O (v) @) (i) © O Gv) @) ()
(D) @@ (v) (1) (i) (D) @@ @v) @ (i)
SPACE FOR ROUGH WORK / % &r& & fad swrg
AR feam
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94.

95.

96.

97.

Which gas is
atmosphere ?

mostly found in

(A) Oxygen

(B) Nitrogen

(C) Carbon dioxide
(D) None of the above

In which river we find Dolphins in
India ?

(A) Brahmaputra
(B) Narmada

(C) Ganga

(D) Indravati

Which of the following city was the
capital of Magadh Mahajanapada in 6th
century B.C. ?

(A) Rajgriha
(B) Vaishali
(C) Pataliputra
(D) Champa

Which is the riverine Isalnd of India

which is now district ?

(A) Nicobar - Andaman & Nicobar
(B) Shillong - Meghalaya

(C) Kokrajhar - Assam

(D) Majuli - Assam

94.

95.

96.

97.

AR fEan

Trgee § g tfere HE-T W R S
772

(A) SRS

(B) IS

(C) HEA SRS

(D) Swis H ¥ HE T

fore v e # <ifew o1 Sl € 2

(A) SRIgA
(B) Ha
(C) Tm

(D) sTrdt

6 of vt 5.9, # Frefefed § & HE-9
TR T HRSYE i TS &1 ?

(A) TR

(B) et

(C) AT

(D) ==

a1 e g T e & # fen sifva
e T §?

(A) FreREm - sigam T e

(B) forai - Ao

(C) TR ~ TEH

(D) WIgeH - A

SPACE FOR ROUGH WORK / T & % fodr srg
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98. Which is the Southern most state of ~ 98. YR T TaId 70N T HIA-TT § ?
India ?
(A) Kerala (A) &
(B) Karnataka (B) i
(C) Tamilnadu (C) dferrg
(D) Andaman & Nicobar (D) 3igHH T fehlem
99. Match List-I with List-II and select the ~ 99. H=it-1h gei-11 § gafea X f1= wrs =it
correct answer using following codes : HRIdl § WEl 3T FAfd S
List-I List-II qei-1 TE-11
(Type of glass) (Application) (TE & WehTT) ( 3T )
(a) Borosilicate (i) Insulating (a) wRIfafesRe () SheH
glass Material in T EEINERECE]
oven & fag
(b)  Glass Wool (i) CutUVrays (b) TEE A (i) oGl % W~
to eyes EURIRECI]
(c) Laminated (i) Heat I e &
glass resistant (c) doffide ™M@ (i) AR
glass Hig
(d) Crook’s glass  (iv) Bullet-proof (d) P TH (iv) FA-Y®
glass Hi
Codes : ®IT:
@ () (9 (d @ (b) () (d
(A) @ @) @@ @) (a) @ @) @@ @)
(B) @ @) @ () (B) @ @) @ (i)
© @@ @ @) (@@ © @) @ @) (@
(D) () (@) @@ @ (D) (v) @) @ @
SPACE FOR ROUGH WORK / T% & & & g
AR fem
31 Set - A
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100.

101.

102.

103.

What is the agricultural growth rate of
India in 2016-17 as per Central Statistical
Organization ?

(A) 2.2 percent

(B) 1.2 percent

©)
(D)

4.1 percent
None of these

If the office of the Speaker and Deputy
Speaker is vacant, who will preside over
the meetings of Lok Sabha ?

(A) A member elected by Lok Sabha
(B) A member who is in third number
in the list of Presiding Officers
(C) A member appointed by President
(D) A person appointed by President

with the advise of Cabinet

The President nominates 12 members
in Rajya Sabha among persons
having special knowledge or practical
experience in respect of which field as per
Article 80 ?

(A) Literature

(B) Science

©
(D)

Art and Social Service

Sports

Who demands for a grant in the State
Legislative Assembly ?

(A) Cabinet

(B) Governor

(C) Chief Minister

(D) Finance Minister

100.

101.

102.

103.

AR e
=i wifeEg S8 % STTAR WRd ¥ HiY
gfig T 2016-17 § M 77

(A) 2.2 gfaer@
(B) 1.2 wfawa
(C) 4.1 fawd
(D) T | T

oft TR @ik fet wfes o1 we e &
AT Y NS R SFL R HT?

(A) SR g faifed aee

(B) % Ge S deE st
T B e R W

(C) Trgufd gRI FT T HeE

(D) e = o Afemree % WEd W
Trafer e

YT 80 ¥ FTER Tgfa Too@e 7 12
qee ) ARG H@ E, ST AR
g & H TSIy 9 = SRk M el
€2

(A) Wi
B) famm
(C) el Tg TES Hal
(D) &

T TaemE H STEH &1 A B FIA 7 2

(A) dwimvEa
(B) T=EUA
(€ e
(D) faa =l

SPACE FOR ROUGH WORK / T &Td % ferdl sFTe

AR fean

Set - A

0271/XS-BN/RCE-M




104. For the Qualification for election as

105.

106.

107.

President which is unmatched ?
(A) Heis a citizen of India

(B)
©
(D)

He has completed the age of 35
He is not in the office of profit

He is Qualified for election as a
member of Lok Sabha

Which is in the correct form ?

(A) Tropic of Cancer - 23_1_ S. Latitude
2

Tropic of Capricorn - 0° Latitude

(B)

(C) Equator - 231 N. Latitude
2

(D) North Pole - 90° Latitude

Which one of the following is not a good
source of Calcium ?

(A) Ragi
(B) Egg

(©) Milk
(D) Rice

Which year is taken as Base year for
calculation of GDP at constant prices in
India ?

(A) 2010-11

(B) 2011-12

(C) 2004-05

(D) None of these

104.

105.

106.

107.

AR fEan

Tszafa & fratem & fere draa & s gifea

& e?

(A) IT IRA T AR §

(B) 935 &t 1Y g T foram

(C) e fordl 1w & 1] W &l &

(D) 9% Siehul & ¥e faifad 39 &
forg arfda €

T Y HA-T R ?
(A) e - 23%°arauﬁ S

(B) T XM - 0° &M &

©) gueaE- 3] wu s
2
(D) SR 4d - 90° &7

= 8 9 39t ey &1 =31 |
TS ?

(A)

(B) sfer

(©) 3%

(D) e«

IR | feeR FiTdl W weper we] e i
AT A o AT e o &1 STTER a9 sArn
TR?

(A) 2010-11

(B) 2011-12

(C) 2004-05

(D) T | FE T

SPACE FOR ROUGH WORK / T% &1d & e wg
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108.

109.

110.

111.

Which river is not correctly matched ?

(A) Amazon - Brazil
(B) Yéngﬁsikyang - China
(C) Nile - Egypt
(D) Missisipi - Australia

Who of the following was not charged in
the Red Fort Trial against the Indian
National Army ?

(A)
(B) Captain Sehgal
©)
(D)

Captain Mohan Singh

Lieutenant Dhillon

Colonel Shah Nawaz

The blood glucose level is commonly

expressed as :
(A)
(B) milligram per decilitre
(mg L)

parts per million (ppm)

mm of mercury (mm of Hg)

©)

(D) gms per litre (gmL ™)

What is not correct ?

(A) Member of Lok Sabha can take oath
before Protem Speaker

(B) Member of Lok Sabha can take oath

before Speaker

Member of Lok Sabha can take oath

before the President

Member of Lok Sabha can take oath

before the Vice President

©)

108.

109.

110.

111.

AR fEan

Fr-w T we gAfed @ § 2
(A) M -S|
(B) iR — =
€ Faw -
(D) Treifadt - siefer

AT g B ¥ foeg et feen gwen H
frefortag § © fras fots sTd & o
T ?

(A) e e fi

(B) A T

() aftere fewel

(D) i IME Tt

o] TS TR ] AHG: R R STl
g

(A) TR o faferfiet % 9af # (mm of Hg)
(B) fuferm fd SHAR (mg dL 1)

() vy W fafem (ppm)
(D) M wid feret (gmL—?)

=1 G T © 7

(A) EHRGT F T AT TR F
T Y9 o Gehdll ¢ |

(B) WHE I HEW Wh & THE T

W B |

AT T TeEd Tl o qHE I

GRETIES

AHT H TS WU THEA

39 o TR ¢ |

©)

(D)

SPACE FOR ROUGH WORK / T% &4 & faa s e
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112.

113.

114.

115.

What is the density of population of India
in 2011 census ?

325 per sq. k.m.
(B) 402 per sq. k.m.
(C) 382 per sq. k.m.
(D) None of the above

Per Capita income is related with :
(A)
(B) Per Capita GNP
©
(D)

Per Capita GDP

Per Capita Net National Income

None of these

Which is not included in Economic
development from the following ?

(A) Transportation and communication
(B) Energy

(C) Health Services
(D) None of the above

In which of the following year the Treaty
of Purandar was signed between Shivaji
and Raja Jaisingh ?

(A)
(B) 1665 A.D.
©)
(D)

1660 A.D.

1670 A.D.
1676 A.D.

AR fEan

112. 9§ 2011 ! SFTOFT H 9RE 51 SEE 99

113.

114.

115.

FT?

(A) 325 ¥fa ot feRaitex
(B) 402 yfad =i fecirrex
(C) 382 9fa =i fepcirHieR
(D) W H q g T

gfd =afeq o Heifeq © :

(A) wfa =fem Hehat = Sg
(B) i =ufe Wehet WL 3G
(©) vt =ife forgps Uit o
(D) 70 § g T

=+ 9 f5a sfdfer fawrg o wnftrer =&
foren e §2

(A) URERT T H9R
(B) i

(C) womeeA Famd

(D) I H T HE T

Frefafed § € fhe ad # fyash eiiv o=
STafEE % ot gt #I Gy W ewer 5y
T ?

(A) 1660 3.

(B) 1665 %.

(C) 1670%.

(D) 1676 %.
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116. Match List-I with List-II and select the

correct answer using following codes :

List-I List-II
(Instrument) (Uses)
(a) Tachometer (i) High
temperature
(b) Pyrometer (ii)  Electrolysis
(c) Voltmeter (iii) Rotation
speed
(d) Voltameter (iv) Potential
difference
Code :
(@ ®) © (@
@ o G @ W
® G O G @
© @) @ 6 G
® @ 6 @ @

117. Who is entitled to participate in the

meetings of State Legistative Assembly
and State Legislative Council if he is not

a member of the house ?
(1)

(i)
(i)
(iv)

Ministers
Attorney General
Advocate General

Accountant General

(A)
(B)
©)
(D)

@)
(i
(i
@

(@)
(i)
t)
(i)

AR fEan

116. W—Iaﬁgﬁﬁ—ll@gﬁmmﬁmmaﬁ

117.

T 9 e T TR e -
-1 -1
( SURIT ) ( ST )

(a) <HHX () S AR

(b) PRI (i) Toga

fa=e

() dreeHix (i) FoM

(d) SeeHIX (v) Taver=i

wE :
@ ® (@ (@

(A) @ @) @ )

(B) Gi) (@ (v) @)

©) Gv) @ @ )

(D) G) @ @) @)

e T T iR T e afeg ot oSl

o o 3 e @i A ¢ A(E o% wE A

e @ 27

G wl

() e

(i) FETEERT

(iv) TRRTETEHR

(a) O @

(B) () (i)

© @ (i)

(D) @ @)
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AR e

118. Which bank does not grant loan to  118. M- 9% N 1 B0 & 2q1 & ?

people ?
(A) Reserve Bank of India (A) W fed S
(B) State Bank of India (B) ¥R W2 %
(C) Cooperative Bank (C) EEHR d%

(D) None of these (D) &8 & =1 7t

119. Which of the following is a non-metal ~ 119. f=fefEg ¥ ¥ FH-w sturci 7o £2

liquid ?

(A) Mercury (A) T
(B) Bromine (B) S
(C) Chlorine (C) RHA
(D) lodine (D) STEEH

120. A stone dropped from the roof of a 120. T YR &l T THRD & & § 5HT a6

building takes 4 seconds to reach the A A 4 HhUS &1 999 @01 ¥ 1 AR Y
ground. The height of the building is : Tl;v—vl'l'.fgF 2

(A) 98 m (A) 9.8 T,

(B) 19.6 m (B) 19.6 Hi.

(C) 392 m (C) 39.2 .

(D) 784 m (D) 784 Hi.

SPACE FOR ROUGH WORK / TW &1 & o g
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121.

122.

123.

Current Affairs

Transatlantic Trade and Investment
Partnership (TTIP) is :

(A) Proposed trade agreement between
Furopean Union and China.

(B) Proposed trade agreement between

European Union and USA.

AR fEan

121.

HHHIHIUn «eHl

TiHuE® $8 e TR AW

(AAEAL) g

(A) q@rﬁaﬁﬁaw%ﬁq%nwmﬁa
HHS |

(B) {ﬁhﬂ?ﬁaamaﬁrﬁmémwmﬁa

FHS |

siifc aon dfafes fa <R & A

(C) Proposed trade agreement between <)
USA and Pacific Rim countries. e THR |
(D) None of the above (D) IR B 9 i T

In 2017, Indian Science Congress was

122.

2017 ® Rt fae Fio 6 TR

organized in which of the following H g frg TWH W st feran A ?
place ?

(A) Mysore (A) T

(B) Mumbai (B) TR

(©) Jammu ©

(D) Tirupati (D) faeafd

Match the following regarding “Heart of
Asia” Ministerial Conference.

123.

o e 3 R 3 e %
=1 gafe

(a) 15t Conference (i) Amritsar (a) 9 e (i)  ITHAW
(b) 4th Conference (i) Islamabad (b) =qd weA (i) TRITHER
(c) 5t Conference (iii) Beijing (c) T=W TN (i) SffsiT

(d) 6t Conference (iv) Istambul (d) 3| e (iv) SEEA
Codes : wS

@ @ ( @

@ ® (© @

(A) Gv) @) @O @ (A) Gv) @ @
® G @ @ ® @ @ @
© G @ @ O © Gv) @) @ O

None of the above

(D)

(D) S H i T

SPACE FOR ROUGH WORK / 1% w1 & fod e
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124.

125.

126.

Motor Vehicle Agreement (MVA) under
BBIN initiative has been ratified in the
parliament of which group of countries ?

(A) Bangladesh, Bhutan and India only
(B) Bhutan, India and Nepal only
(C) India, Nepal and Bangladesh only

(D) Bangladesh, Bhutan, India and

Nepal

Which of the following is not true about
“Digital Army” Initiative ?
(A) Itplans to provide digital computer

to 10 lakh students

(B) It aims to propagate “Cashless
Society”

(C) It plans to form a “Digital Army”
of about 10 lakh people who will
encourage electronic payment

(D) None of the above

Which of the following is correct about
9th BRICS Summit ?
(A) It will be held in Xiamen in

September 2017

(B) It will be held in Xiamen in April
2017

(C) It will be held in Moscow in
September 2017

(D) It will be held in Moscow in April
2017

AR fEan

124. AR F YA F TR WX A

125.

126.

T (TAAT) B e 8§ 4§ g 2w
T o WS FN SAIHIfEA fopan v ?

(A) T SR, YeH qen YR

(B) THWE Yem, wRa qer YUt

(C) Toh wiE, AU qen s

(D) SRR, M, WRA a9 9

frafafea 4 & fefsea ol vee © Heieft

1 T T Q2

(A) 39% T'd 10 @@ famfy=ay =
“fefsea wrged"’ ggan e

(B) ¥He W&d ‘' Shereid wHS! Y S |

(C) 3H% qd '‘seiweifte yTam'! w5t
YieaTfed A Al 10 A @ s
TefSteat ¥ TaR % 1 demn 8

(D) W H A HiE 7 |

=it forere vfefama & wrerer & o W@ ¥ 2

(A) = faamt 2017 # M= 4 smfsa
il

(B) @& ¥ 2017 ¥ fqamm ¥ smefoa
El

(C) ¥' 9rehl ¥ faawr 2017 # s
Ul

(D) I Hreh H o7 2017 & et grm
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127. Where the first Indian Institute of skills is

128.

129.

unveiled ?

(A) Kanpur

(B) Varanasi
(C) Chandigarh

(D) Delhi

Who won the Nobel Prize in literature in
2016 ?

(A) Svetlana Alexievich
(B) Bob Dylan
(C) Ngugiwa Thiong’'o

(D) None of the above

In 63 National Film Awards Ceremony,
the Dada Saheb Phalke Award was given

to:

(A) Shashi Kapoor
(B) Guljar

(C) Manoj Kumar

(D) Rajesh Khanna

AR fean

127. UBAT HIATA chlil dxin '-n%'l

128.

129.

T ?

(A) I

(D) feeedt

¥ 2016 F1 Tifeca &1 Ao [EHER
et g3 2

(A) TR T

(B) dife TEeH
et & forri

(D) ST H HE T

< TR ieh R 63 o T fhed
TR AR H R e

(A) TR FL
(B) TSI
(C) AN FAR

(D) TS &=
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130.

131.

132.

“Recently India set world record in

launching satellites”
Which of the following is not true about
it?

India launched 104 satellites in

single mission.

(A)

(B) They were launched by PSLV-C37.

(C) This mission had 103 co-passanger
satellite and one cartosat-2 series

satellite.

Out of all the satellites launched the
maximum number of satellites were

(D)

from India.

Which of the following is monitored by
using GARV-II Mobile App ?

(A)
(B)
©)
(D)

Agricultural Programme
Health Programme
Electrification Programme

Forestry Programme

Election Commission declared assembly
elections in how many states during
February-March 2017 ?

(A) 07
(B) 06
(C) 05
(D) 03

131.

132.

AR fem

glel 8l H SYYEl b Y&IIUT § WA g fava
Tenre wenfaa foman o’

39 Go | 1 9 e B ?

(A) YRA 5N T & oM § 104 swre et
ferg My

 PSLV-C37 & w&ifua ferw 7u)

39 i 9 103 e-amt S9UE a1 U
FREHE-2 i T IYUT o7

(B)
©)

Teafua 9ot SRl § uRa % SyuE &
e ged e oft |

(D)

GARV-II Hi9EA UY & 399 i § 9§
fermant forot % fora fope ST 82

(A) FHY FrEdwd
(B) e HRlHH
(C) fagdeo srwy

(D) ool A

TE-TE 2017 § FFat o § faamEe
TS T SN AT ST g7 S 2

(A) 07
(B) 06
(C) 05

(D) 03

SPACE FOR ROUGH WORK / T& &1d & fo& smie
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133.

134.

135.

Which of the following countries left
commonwealth few months back ?

(A) Ghana
(B) Maldives
Mauritius

©)

(D) None of the above

Who is associated with Space-X ?
(A) Mark Zucker Berg

(B) Elon Musk
(C) Satya Nadela

(D) None of the above

Which of the following is related to INS
Chennai ?

(A) Project 15 A class destroyers
(B) Surface to surface missile

(C) Surface to Air Missile

(D) All of above

133.

134.

135.

AR e

R T LN IR I N AN R C RN LR R

TR gl B T ?

Zaved W §9

(A) =T

(B) WIeRd
(C) W™

(D) SH H A FE T

Ae-TeE | B Gafe[ 82
(A) T R
(B) TN HER
(C) &N e
(D) SR H g Tl

T T.TE. S G G g 7?

(A) TR 15 T A0 6 TR

(B) §ae & Wde h framEd
(C) e ¥ arg o freEe

(D) SRR |t
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136.

137.

138.

General Knowledge of State

Who of the following was the recipient
of Pt. Ravishankar Shukla samman of this
state in 2016 ?

(A)
(B)
©)

Ravishankar Vyas
Vinod Kumar Shukl
Shri Arun Sharma
(D) Dr. Vishnu Singh Thakur

On which of the following personality a
dam on the Hasdo river at Bango in this
state has been named ?

(A)
(B)
©)
(D)

Rajmohini Devi
Minimata
Queen Vasatta

Phulkumari Devi

Who of the following litterateur was the
pioneer of Romanticism in this state ?

(A) Padumlal Punnalal Bakshi
(B) Lochan Prasad Pandey
(©) Mukutdhar Pandey

(D) Ram Dayal Tiwari

136.

137.

138.

AR fEan

ST it QTHT AR

Frefafea § @ =9 3@ w1 ¥ 9. g
YT WM 2016 % Jrehai & ?

(A) el =g
(B) forle FuR et
(C) 4t a5m ymi
(D) . Ty fife T

Frefafad § § forg =t % 9 w39
T H &1 o T | g9e) 78 W WY
RO fopan TR £ 2

(A) ToEIfET &t
(B) fuftemen
(©) T S

(D) PABAR =

frefafed & @ w5 fagr oo v & srmER
% Yodeh 9 ?

(A)
(B)
(©)

(D)

qgHAT JTTeTel STt
LR E IS
P q0e
REERICREEIN
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139.

140.

141.

In ancient times who of the following was
the founder of the Nala dynasty in this

state ?

(A)

(B) Bhavadatta Varma

Varaharaj

©
(D)

Vilasatunga

Arthapati

‘Ghotul’ has been a meeting point of
young boys and girls of which of the
following tribe of this state ?

(A) Gond
(B) Halba
Maria

©)
(D)

Muria

Which of the following folk-theatre of this
state is largely inspired by the ‘Rasleela’
of UP.?

(A) Chandeni - Gonda
(B) Rahas

(C) Nacha

(D)

Gammat

139.

140.

141.

AR fean

QT el H o6 T H Ac A ol HETTR
frfefed & 9 & o412

(A) OIS
(B) e o
(C) foremegn
(D) aedufd

wmaﬁﬁmﬁfﬁaﬁﬁ@mmw
Wa@ﬁtmmmﬁ—w‘aﬁgﬁ’
wE?

g T w1 frefated § § HE-T Alh-
meaﬁ‘wﬁw'ﬁﬁ%wﬁa
772

(A) = - T
(B) &H
(€ =

(D) "HHd
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142. Who of the following ruler of the Kalchuri

143.

144.

dynasty of Ratanpur in this state assumed
the title of ‘Sakalkosaladhipati’ ?

(A) Ratnadeva I
(B) Prithvideva I
(C) Ratnadeva II

(D) Prithvideva II

At which of the following place in this
state the tribals expressed their anger
against the forced labour by cutting trees
in reserved forest in January 1922 ?

(A) Kanker

(B) Chhuikhadan
(C) Nagari - Sihawa
(D) Paralkot

Which of the following folk-song of this
state is regarded as ‘love-song’ ?

(A) Bharthari
(B) Dadariya
(C) Dhola-maru

(D)

Jasgeet

142.

143.

AR fEan

39 T ¥ WA & hagR a9 & Fefefad
Ty oo 7 ‘Tewasrgautg’ w Sy
YT T off ?

(A) TeTed goH

(B) geAiea yom
(C) Toied T
(D) getes facla

39 U9 & Trefafiad o @ frg o s
1922 § SRfaa Se ¥ U sEat ST ¥
foeg 19 & Yane fopam o7 ?

(A) HIF
(B) BEEEH
(C) T - fagren

(D) WEHIE

144. 39 9 % feafafge § 9 $59-1 g

"I i’ % w9 S o § 2
(A) Wt

(B) =afen

(C) Tra-ArE

(D) St
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145.

146.

147.

148.

On which of the following river in this
state the Chitrakot fall exists near
Jagdalpur ?

(8)
(B) Indravati
(C) Sabari
(D) Shankhini

Godavari

Which of the following mineral has the
Jargest deposits in this state ?

(A) Coal

(B) Iron-ore
©
D)

Boxite

Lime-stone

In which of the following period the
feudatory principalities of this state were
merged.in the Indian Union ?

(A) August 1947

(B) September 1947

(C) December 1947

(D) January 1948

Who of the following woman badminton
player of this state has won the bronze
medal in the 81t National Senior
Badminton Championship held at Patna
in 2017 ?

145.

146.

147.

148.

AR fean

6 Aot H (eI e TG TGRS
3 e famere T ferd 82

©)
(D) =W TR

ﬁﬁﬁ'ﬁ@aﬁﬁmmﬁwmﬁ
wv—cﬁﬁmﬁmﬁaﬁmﬁnﬁ?

(A) ST 1947
(B) Tadsx 1947
() fede 1947
(D) Sl 1948

0017 & T # aefea 81 of W HFFER
Sefier vt § 59 W w1 Frefafed
for Tfen Sreftie faenel 3 e Tesh Sl ?

(A) Juhi Dewangan (A) SRS
(B) Rituparna Das (B) SETWTT <
(C) Akarshi Kashyap (@) 3TREl HTIT
(D) Rashmi Sahu (D) ¥\ AR
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149. Which of the following Industrial

150.

Development Centre is established near
Bilaspur in this state ?

(A) Sirgitti
(B) Borai
(C) Urla
(D) Siltara

Which of the following was an important
work of Captain Agnew as British
Superintendent of this state ?

(A) Pargana system

(B) Suppression of Sati system
(C) Suppression Thuggi

(D)

Transfer of Capital

-00o0-

AR fEan

149. 39 159 ¥ foemaq & frre Prefafeg § 9

150.

-9 SN fenre S wenfua fmar o
7?2 '

(A) fafigt
(B)
(©) s
(D) foere

T T % fofew guiiede & w9 & $em
T F1 HeewqY] s Frefafea § § $E-m
o ?

YU UG

(B) Wl o ol S

(A)

(C) shHHFTHT
(D) TS IR

-00o0-

02
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